
Start

End

Is 
t>1000s?

Pick one sector 
randomly

N

• Select [𝑙1, 𝑙2, 𝑙3, 𝑙4] randomly from experiments and allot to four sectors
• Compute Nuhy = ceil(!""" × $

!""
) and assign microtubule Tip-state 1

Is Tip-
State=1?

Ppoly=	KpolyCT
Phy	=	Khy
Pdepoly=	0

Ppoly=	0
Phy	=	0

Pdepoly=	Kdepoly

Execute Gillespie Algorithm

Update t,	CT(t)	
and Tip-state

Is 
Nuhy>0?

Tip-state=1

Tip-state=0N
Y

Growth
𝑙 = 𝑙 +	0.1			 CT=CT	- 0.00614

Nuhy=Nuhy+1

Nuhy=Nuhy-1

𝑙 = 𝑙 − 0.1	 CT=CT+0.00614
*Repeated	till	 𝑙=0

Hydrolysis

Depolymerization*

Y

N

Y
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